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Choose the Operation
Circle the operation that will help you solve the problem

Mary has 5 bags of marbles. Each bag
contains 3 marbles.

How many marbles are there in total?

3x5 3+5

Alex has 6 marbles. He has 4 times less
than his brother.

How many marbles does his brother have?

6+4 6x4

Paul has 3 beehives in his garden. Each
beehive contains 6 bees.

How many bees are there in total?

3x6 6+3
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Abigail ate 6 cakes. That’s half as many
(2 times fewer) than Peter.

How many cakes did Peter eat?

6+2 6x2

A big bar of chocolate is made up of 8
small bars of chocolate. Each small bar
has 4 squares of chocolate.

How many squares of chocolate are there
in total?

8+4 8x4

Peter has 5 bags of candies. Each bag
contains 5 candies.

How many candies are there in total?

5x5 5+5



